2022-2023%4F X HAWN FE TR M A S

B MWD B &R (o)
FERN] Y e T RV 30E B2 b B 2000
SEfH AT i £ v RT3 G Bh 2 4bBh 2500
AT R Y & TRV 3CE Bh2E b 2500
Y R 55 v I HRD 250 Bh 4 4bBh 2000
AR i £ v RITHRY 3 E Bh 2 4bBh 2000
ZE D] Y &2 TRV 3CE Bh 2= b 2500
i R 5 v I HRD 250 Bh 2 4hBh 2000
¥ = Y &% v RITHRY 3CE Bh 2 4hBh 2500
9N Y = T RV 30E Bh 2 4h B 2500
BN Y & TRV 3CE Bh 2= b 2500
MR Y e T RV 30E B2 b B 2000
k) I 7% v RITHRY 3E Bh 2 4hBh 2500
MR R 5 v I HRD 250 Bh 2 4hBh 2500
JEIEAN R 55 v I HRD 250 Bh 4 4bBh 2500
Uit 1E 2R Y e T RV 30E Bh 2 b B 2000
FALE R £ v I HRD 2505 Bh 2 4bBh 2500
TR Y & TRV 3CE Bh2= b 2000
5= Y e T ROV 30E B2 kb B 2000
YT Y = T RV 30E Bh2E b B 2500
At Y & TRV 3 E Bh2E b 2500
T Y e T RV 30E B2 b B 2000
FE% Y = TRV 30E B2 b B 2000
1 7KAll Y & TRV 3CE Bh2E b 2500
Y3z R 55 v I HRD 250 Bh 4 4bBh 2500
Rt i £ v RITHRY 3 E Bh 2 4bBh 2500
FEHE Y &2 TRV 3CE Bh 2= b 2500
X Bt Y & TRV 3CE Bh2= b 2000
L Y e T RV 30E B2 b B 2000
R Y = T RV 30E Bh2E b B 2500
1 T 4% Y & TRV 3CE Bh 2= b 2000
EE R &% v RITHRY 3E Bh 2 4hBh 1500
A R I 7% v RITHRY 3E Bh 2 4hBh 2000
¥ ou i Y & TRV 3CE Bh2E b 2000
[B &L R 55 v I HRD 250 Bh 4 4bBh 2000
XIS 55 i &% v R HRY 3E Bh 2 4bBh 2500
TR R A R £ v I HRD 2505 Bh 2 4bBh 2500
AR Y & TRV 3CE Bh2= b 2000
TR I &2 v RITHRY 3CE Bh 2 4hBh 2500
2t Y = T RV 30E Bh 2 4h B 2500
R 4 Y & TRV 3E Bh 2= h ) 2000
ZE % R &2 v RITHRY 3 Bh 2 4hBh 2500
Yoy I &% v RT3 E Bh 2 4hBh 2500
R Y & TRV 3CE Bh2E b 2500
X2 R 25 T RN 2 Bh22 % Bh 2500
JEFERR i £ v RITHRY 3 E Bh 2 4bBh 1500
2= R £ v I HRD 2505 Bh 2 4bBh 1500
e Y & TRV 3CE Bh 2= 4h 2500
i Y e T RV 30E B2 b B 2000
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B MWD B &R (o)
AR Y e T RV 30E B2 b B 2000
EHE i £ v RT3 G Bh 2 4bBh 1500
e Y & TRV 3CE Bh2E b 1500
B R 55 v I HRD 250 Bh 4 4bBh 1500
fA[ 7K i £ v RITHRY 3 E Bh 2 4bBh 2500
ikl R £ v I HRD 2505 Bh 2 4bBh 2500
OEH Y & TRV 3CE Bh2= b 2000
PRk Y &% v RITHRY 3CE Bh 2 4hBh 2000
BN Y = T RV 30E Bh 2 4h B 2500
2= Y & TRV 3CE Bh 2= b 2000
Tt i £ v RITHRY 3E Bh 2 4hBh 1500
BTN Y i TRV 30E B2 b B 2000
W Y & TRV 3CE Bh2E b 2000
XUk R 22 T RIERNY 208 Bh 22 %0 B 2500
EAEF Y e T RV 30E Bh 2 b B 2000
P R £ v I HRD 2505 Bh 2 4bBh 2500
Fag Y & TRV 3CE Bh2= b 2000
T Y e T ROV 30E B2 kb B 2000
AR AE Y = T RV 30E Bh2E b B 2000
ZEHEAE R £ v RITHRD 250 Bh 4 4bBh 2500
TR Y e T RV 30E B2 b B 2500
A i £ v RITHRY 3 E Bh 2 4hBh 2000
EPN: Y & TRV 3CE Bh2E b 1500
LA R 55 v I HRD 250 Bh 4 4bBh 1500
IR i £ v RITHRY 3 E Bh 2 4bBh 1500
ZIER R £ v I HRD 2505 Bh 2 4bBh 1500
e EAN Y & TRV 3CE Bh2= b 2000
FEa Y e T RV 30E B2 b B 2500
RS Y = T RV 30E Bh2E b B 2500
7K FN 45 Y & TRV 3CE Bh 2= b 2500
Tk Y e T RV 30E B2 b B 2000
FL M I 7% v RITHRY 3E Bh 2 4hBh 2000
YR Y & TRV 3CE Bh2E b 2000
i R 55 v I HRD 250 Bh 4 4bBh 2000
M 4R i &% v R HRY 3E Bh 2 4bBh 2000
WEINSH R £ v I HRD 2505 Bh 2 4bBh 2500
VEoE Y & TRV 3CE Bh2= b 2500
THE Y e T ROV 30E B2 kb B 2000
g S b Y = T RV 30E Bh 2 4h B 2000
BAR Y & TRV 3E Bh 2= h ) 2500
23| Y e T RV 30E B2 b B 2000
T4 I &% v RT3 E Bh 2 4hBh 2500
Znk Y & TRV 3CE Bh2E b 2500
g R 55 v I HRD 250 Bh 4 4b Bh 2500
AL i £ v RITHRY 3 E Bh 2 4bBh 2500
EHEE R £ v I HRD 2505 Bh 2 4bBh 2500
FH% R 5 v I HRD 250 Bh 2 4hBh 2000
i) Y &% v RITHRY 3CE Bh 2 4hBh 2500
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B MWD B &R (o)
e Y e T RV 30E B2 b B 2500
I i £ v RT3 G Bh 2 4bBh 2500
A Y & TRV 3CE Bh2E b 2000
YK R 55 v I HRD 250 Bh 4 4bBh 2000
BigE R i £ v RITHRY 3 E Bh 2 4bBh 2000
T & 5 Y &2 TRV 3CE Bh 2= b 2500
=R Y & TRV 3CE Bh2= b 2000
LN Y = T ROV 30E B2 b B 2000
AR agis Y = T RV 30E Bh 2 4h B 2500
JUSCHE Y & TRV 3CE Bh 2= b 2500
FEAA i £ v RITHRY 3E Bh 2 4hBh 2500
RIELE I 7% v RITHRY 3E Bh 2 4hBh 2500
B 2 4 Y & TRV 3CE Bh2E b 2500
gk R 55 v I HRD 250 Bh 4 4bBh 2000
ZEEIA Y e T RV 30E Bh 2 b B 2000
7K B2 Y 2 TRV 3CE Bh 2= 4b 2000
JARSC R 5 v I HRD 250 Bh 2 4hBh 2000
I Y e T ROV 30E B2 kb B 2000
R Y = T RV 30E Bh2E b B 2000
F Al R £ v RITHRD 250 Bh 4 4bBh 2000
IR Y e T RV 30E B2 b B 2000
YRAR Y = TRV 30E B2 b B 2000
Wik ik Y & TRV 3CE Bh2E b 2500
P R 55 v I HRD 250 Bh 4 4bBh 2500
Y HEE Y = T ROV 30E Bh 2 kb B 2000
Yk Y &2 TRV 3CE Bh 2= b 2500
S Y & TRV 3CE Bh2= b 2500
L& Y &% v RITHRY 3CE Bh 2 4hBh 2500
ZHF I &2 v RITHRY 3E Bh 2 4bBh 2000
HIEA R £ v RITHRD 250 Bh 2 4bBh 2000
T4 R &% v RITHRY 3E Bh 2 4hBh 2500
JE KA Y = TRV 30E B2 b B 2000
s Y & TRV 3CE Bh2E b 2500
Jiy L R 25 T RIBNY 2 Bh22 % Bh 2500
=Y 4 Y = T RV 30E Bh 2 b B 2000
2% R £ v I HRD 2505 Bh 2 4bBh 2500
R E Y & TRV 3CE Bh2= b 2000
X T2 Y e T ROV 30E B2 kb B 2500
B A Y = T RV 30E Bh 2 4h B 2500
B IEH R £ v RITHRD 250 Bh 4 4bBh 2500
Bl Y e T RV 30E B2 b B 2000
3% 75 I &% v RT3 E Bh 2 4hBh 2500
Easil Y & TRV 3CE Bh2E b 2000
EKE R 55 v I HRD 250 Bh 4 4b Bh 2500
Bz Y = T RV 30E Bh 2 b B 2000
EAAE Y &2 TRV 3CE Bh 2= b 2500
)= R 5 v I HRD 250 Bh 2 4hBh 2500
X Y e T RV 30E B2 b B 2500
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B4 Y e T RV 30E B2 b B 2000
B 4k i £ v RT3 G Bh 2 4bBh 2000
il Y & TRV 3CE Bh2E b 2500
X R 55 v I HRD 250 Bh 4 4bBh 2500
=4 R i £ v RITHRY 3 E Bh 2 4bBh 2500
25 Y &2 TRV 3CE Bh 2= b 2500
Fh e Y & TRV 3CE Bh2= b 2000
RS Y = T ROV 30E B2 b B 2500
e Y = T RV 30E Bh 2 4h B 2500
Lot g Y & TRV 3CE Bh 2= b 2000
250 Y e T RV 30E B2 b B 2500
ik [ U I 7% v RITHRY 3E Bh 2 4hBh 2000
Tk IEAL Y & TRV 3CE Bh2E b 2500
AT R 55 v I HRD 250 Bh 4 4bBh 2500
IS i £ v R HRY 30 E Bh 2 4hBh 2000
2 g Y 2 TRV 3CE Bh 2= 4b 2500
ZHTT Y & TRV 3CE Bh2= b 2000
JE s 4 I &2 v RITHRY 3CE Bh 2 4hBh 1500
gk ALY Y = T RV 30E Bh2E b B 2000
A Y & TRV 3 E Bh2E b 2500
B 4R Y e T RV 30E B2 b B 2000
=y i £ v RITHRY 3 E Bh 2 4hBh 2500
A R 5 v I HRD 250 Bh 2 4hBh 2500
P T R 55 v I HRD 250 Bh 4 4bBh 2500
Bk i, Y = T ROV 30E Bh 2 kb B 2000
B Y &2 TRV 3CE Bh 2= b 2000
ENE Y & TRV 3CE Bh2= b 2000
T Y e T RV 30E B2 b B 2500
FRS Y = T RV 30E Bh2E b B 2500
GRS Y & TRV 3CE Bh 2= b 2000
A 3 Y e T RV 30E B2 b B 2500
TiEE I 7% v RITHRY 3E Bh 2 4hBh 2500
B IAIT Y & TRV 3CE Bh2E b 2500
BEY R 55 v I HRD 250 Bh 4 4bBh 2000
£ NAN Y = T RV 30E Bh 2 b B 2000
o E R £ v I HRD 2505 Bh 2 4bBh 2500
W oo % Y & TRV 3CE Bh2= b 2000
F 4% Y e T ROV 30E B2 kb B 2000
25 B W Y = T RV 30E Bh 2 4h B 2000
T ER R £ v RITHRD 250 Bh 4 4bBh 2500
SEH R &2 v RITHRY 3 Bh 2 4hBh 2500
iy I &% v RT3 E Bh 2 4hBh 1500
= Y & TRV 3CE Bh2E b 2500
E5.9ili R 55 v I HRD 250 Bh 4 4b Bh 2500
JCSOR Y = T RV 30E Bh 2 b B 2000
E&i R £ v I HRD 2505 Bh 2 4bBh 2500
=D Y & TRV 3CE Bh 2= 4h 1500
LN Y &% v RITHRY 3CE Bh 2 4hBh 2500
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B MWD B &R (o)
)2 Y e T RV 30E B2 b B 2000
ZE:nR Y = TRV 30E B2 b B 2000
JE MR R 5 v I HRD 250 Bh 2 4hBh 2000
&R R 55 v I HRD 250 Bh 4 4bBh 2500
JHIEZE i £ v RITHRY 3 E Bh 2 4bBh 2500
JH R4 Y &2 TRV 3CE Bh 2= b 2000
RELIE Y & TRV 3CE Bh2= b 2000
Il Y &% v RITHRY 3CE Bh 2 4hBh 1500
PRFF Y = T RV 30E Bh 2 4h B 2000
FKER Y & TRV 3CE Bh 2= b 2000
AN Y e T RV 30E B2 b B 2000
LERE I 7% v RITHRY 3E Bh 2 4hBh 2500
FEAR K R 5 v I HRD 250 Bh 2 4hBh 2000
SR R 55 v I HRD 250 Bh 4 4bBh 2000
U Y i £ v R HRY 30 E Bh 2 4hBh 2500
TR R £ v I HRD 2505 Bh 2 4bBh 2000
JE R Y & TRV 3CE Bh2= b 2000
MIEAR I &2 v RITHRY 3CE Bh 2 4hBh 1500
IEE Y = T RV 30E Bh2E b B 2000
ZERE Y & TRV 3 E Bh2E b 2000
AR R &2 v RITHRY 3 E Bh 2 4bBh 2500
FIE% i £ v RITHRY 3 E Bh 2 4hBh 2500
P I R 5 v I HRD 250 Bh 2 4hBh 2000
I 1 R 55 v I HRD 250 Bh 4 4bBh 2000
TKAR 4 i £ v RITHRY 3 E Bh 2 4bBh 2500
A Y &2 TRV 3CE Bh 2= b 2500
R Y & TRV 3CE Bh2= b 1500
EitEF Y e T RV 30E B2 b B 2500
BXIE Y = T RV 30E Bh2E b B 2500
Bl Y & TRV 3CE Bh 2= b 1500
e Y e T RV 30E B2 b B 2500
EiEH Y = TRV 30E B2 b B 2000
7K BT 5 Y & TRV 3CE Bh2E b 1500
T M7 R 55 v I HRD 250 Bh 4 4bBh 2000
Q=S i &% v R HRY 3E Bh 2 4bBh 2500
FhIEFS R £ v I HRD 2505 Bh 2 4bBh 1500
Fh[E 7 R 22 T RIERNY 208 Bh22 %0 Bh 2000
[ Y e T ROV 30E B2 kb B 2000
NERS Y = T RV 30E Bh 2 4h B 2500
E=i Y & TRV 3E Bh 2= h ) 2000
T R &2 v RITHRY 3 Bh 2 4hBh 2500
T At I &% v RT3 E Bh 2 4hBh 2500
B TG Y & TRV 3CE Bh2E b 2000
SR R 55 v I HRD 250 Bh 4 4b Bh 2000
J& EAL Y = T RV 30E Bh 2 b B 2000
KR E Y &2 TRV 3CE Bh 2= b 2000
AR Y & TRV 3CE Bh 2= 4h 2000
LG Y &% v RITHRY 3CE Bh 2 4hBh 2500
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3 i Y e T RV 30E B2 b B 2000
& At i £ v RT3 G Bh 2 4bBh 2500
A M Y & TRV 3CE Bh2E b 2000
FHk R 55 v I HRD 250 Bh 4 4bBh 2000
eanpes i £ v RITHRY 3 E Bh 2 4bBh 1500
G Y &2 TRV 3CE Bh 2= b 1500
BRETE Y & TRV 3CE Bh2= b 2000
2 i Y = T ROV 30E B2 b B 2000
EES Y = T RV 30E Bh 2 4h B 2000
#IE4 R £ v I HRD 25 Bh 4 4bBh 2000
AREE i £ v RITHRY 3E Bh 2 4hBh 2500
2o Y i TRV 30E B2 b B 2000
TR Y & TRV 3CE Bh2E b 2000
okik R 22 T RIERNY 208 Bh 22 %0 B 1500
Wit A i £ v R HRY 30 E Bh 2 4hBh 2500
L Y 2 TRV 3CE Bh 2= 4b 2500
¥ B i5 Y & TRV 3CE Bh2= b 2500
PRAE B Y e T ROV 30E B2 kb B 2000
ki Y = T RV 30E Bh2E b B 2000
v S FE Y & TRV 3 E Bh2E b 1500
B Y e T RV 30E B2 b B 2000
Y& Y = TRV 30E B2 b B 2000
RS2 R 5 v I HRD 250 Bh 2 4hBh 2000
2R R 55 v I HRD 250 Bh 4 4bBh 2000
Z= B i Y = T ROV 30E Bh 2 kb B 2000
P Y &2 TRV 3CE Bh 2= b 1500
2= I Uk Y & TRV 3CE Bh2= b 2000
FIE K Y e T RV 30E B2 b B 2000
PG ¥, Y = T RV 30E Bh2E b B 2500
A Y & TRV 3CE Bh 2= b 2500
AR Y e T RV 30E B2 b B 2500
FEAR I 7% v RITHRY 3E Bh 2 4hBh 2500
S =Pan Y & TRV 3CE Bh2E b 2000
A 54T R 55 v I HRD 250 Bh 4 4bBh 2500
frf S Al i &% v R HRY 3E Bh 2 4bBh 2500
A R £ v I HRD 2505 Bh 2 4bBh 2000
2=t Y & TRV 3CE Bh2= b 2000
XU 2N/ Y e T ROV 30E B2 kb B 2000
ERT Y = T RV 30E Bh 2 4h B 2000
f R £ v RITHRD 250 Bh 4 4bBh 2000
WLz Y e T RV 30E B2 b B 2000
LR Y = TRV 30E B2 b B 2000
B & Y & TRV 3CE Bh2E b 2500
55 R 55 v I HRD 250 Bh 4 4b Bh 2500
ik [ 7 i £ v RITHRY 3 E Bh 2 4bBh 2500
A o R £ v I HRD 2505 Bh 2 4bBh 2500
FH Y & TRV 3CE Bh 2= 4h 1500
En®& Y e T RV 30E B2 b B 2500
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Zofh I &% v RITHRY 3 Bh 2 4bBh 2500
T i £ v RT3 G Bh 2 4bBh 2500
ENDY Y & TRV 3CE Bh2E b 2500
P R 25 T+ RN 2 Bh22 % Bh 2000
ZRAE Y = T ROV 30E Bh 2 kb B 2000
2R Y &2 TRV 3CE Bh 2= b 2000
PHEL R 5 v I HRD 250 Bh 2 4hBh 2000
i Y = T ROV 30E B2 b B 2500
Rk Y = T RV 30E Bh 2 4h B 2500
Zo Y & TRV 3CE Bh 2= b 2000
HHE i £ v RITHRY 3E Bh 2 4hBh 2500
BE = Y i TRV 30E B2 b B 2000
ZERR LR Y & TRV 3CE Bh2E b 1500
KA Y 52 T R ER ML 20E B2 kb B 2500
TKAl B i £ v R HRY 30 E Bh 2 4hBh 2500
ZRGT Y 2 TRV 3CE Bh 2= 4b 2500
HIEA Y & TRV 3CE Bh2= b 2500
YIHE Y e T ROV 30E B2 kb B 2500
Lo el Y = T RV 30E Bh2E b B 1500
PIHE R £ v RITHRD 250 Bh 4 4bBh 2000
DAL R &2 v RITHRY 3 E Bh 2 4bBh 2500
JA SR i £ v RITHRY 3 E Bh 2 4hBh 2500
X E 2 R 5 v I HRD 250 Bh 2 4hBh 1500
AT R 55 v I HRD 250 Bh 4 4bBh 2500
BRI i £ v RITHRY 3 E Bh 2 4bBh 2500
XIS Y &2 TRV 3CE Bh 2= b 2000
AHEH Y & TRV 3CE Bh2= b 2000
S Y e T RV 30E B2 b B 2500
2R I &2 v RITHRY 3E Bh 2 4bBh 2500
EH M Y & TRV 3CE Bh 2= b 2500
ek Y e T RV 30E B2 b B 2000
HIE Y = TRV 30E B2 b B 2000
[ 4 12F Y & TRV 3CE Bh2E b 1500
HABE R 55 v I HRD 250 Bh 4 4bBh 2500
A i &% v R HRY 3E Bh 2 4bBh 1500
ERAN R £ v I HRD 2505 Bh 2 4bBh 2500
s Y & TRV 3CE Bh2= b 2000
T I &2 v RITHRY 3CE Bh 2 4hBh 1500
&R Y = T RV 30E Bh 2 4h B 2000
TH& Y & TRV 3E Bh 2= h ) 2500
LIRS R &2 v RITHRY 3 Bh 2 4hBh 2000
Vet e Y = TRV 30E B2 b B 2000
A1 FE Y & TRV 3CE Bh2E b 1500
5 i 2% R 55 v I HRD 250 Bh 4 4b Bh 2000
[ ki i £ v RITHRY 3 E Bh 2 4bBh 2500
7B %] Y &2 TRV 3CE Bh 2= b 2500
1 128 15T R 5 v I HRD 250 Bh 2 4hBh 2000
ML Y e T RV 30E B2 b B 2000
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TK G I &% v RITHRY 3 Bh 2 4bBh 2500
KR - i £ v RT3 G Bh 2 4bBh 2500
= pKi R 5 v I HRD 250 Bh 2 4hBh 2500
ST B R 55 v I HRD 250 Bh 4 4bBh 2000
#H i £ v RITHRY 3 E Bh 2 4bBh 2500
RIS R £ v I HRD 2505 Bh 2 4bBh 2500
[ BT g Y & TRV 3CE Bh2= b 2500
FIEE Y = T ROV 30E B2 b B 2500
EITES Y = T RV 30E Bh 2 4h B 2500
FALA Y & TRV 3CE Bh 2= b 2500
SRV i £ v RITHRY 3E Bh 2 4hBh 2500
VA B 1 Y i TRV 30E B2 b B 2000
FoKiE Y & TRV 3CE Bh2E b 2500
5T R 55 v I HRD 250 Bh 4 4bBh 2500
22 i £ v R HRY 30 E Bh 2 4hBh 2500
AR Y 2 TRV 3CE Bh 2= 4b 2000
A R Y & TRV 3CE Bh2= b 2500
BT A I &2 v RITHRY 3CE Bh 2 4hBh 2500
LE R Y = T RV 30E Bh2E b B 2000
i Y & TRV 3 E Bh2E b 2500
15 3C R &2 v RITHRY 3 E Bh 2 4bBh 2000
2 E o i £ v RITHRY 3 E Bh 2 4hBh 1500
AL R 5 v I HRD 250 Bh 2 4hBh 2500
JEIE>E Y 52 TR ER ML 20E Bh 22 kb B 2000
ik 875 Y = T ROV 30E Bh 2 kb B 2000
HI1E7E R £ v I HRD 2505 Bh 2 4bBh 2500
H 1E R 5 v I HRD 250 Bh 2 4hBh 2000
Hi 4 Y e T RV 30E B2 b B 2000
EIINES I &2 v RITHRY 3E Bh 2 4bBh 2500
f i Y & TRV 3CE Bh 2= b 2500
JE R R &% v RITHRY 3E Bh 2 4hBh 2500
A I 7% v RITHRY 3E Bh 2 4hBh 2500
5 Ul Y & TRV 3CE Bh2E b 2500
ZECKE R 55 v I HRD 250 Bh 4 4bBh 2000
P Kok i &% v R HRY 3E Bh 2 4bBh 2500
PN Y 2 TRV 3CE Bh 2= 4b 1500
JEH = Y & TRV 3CE Bh2= b 2000
Mk Y e T ROV 30E B2 kb B 2000
[ Y = T RV 30E Bh 2 4h B 2500
B35 Y & TRV 3E Bh 2= h ) 2500
B AT Y e T RV 30E B2 b B 2000
e Y = TRV 30E B2 b B 2000
=] R 5 v I HRD 250 Bh 2 4bBh 2500
Bk R 55 v I HRD 250 Bh 4 4b Bh 2500
XA ZE i £ v RITHRY 3 E Bh 2 4bBh 2500
T Y &2 TRV 3CE Bh 2= b 2500
B Y & TRV 3CE Bh 2= 4h 2500
AR Y &% v RITHRY 3CE Bh 2 4hBh 2500




2022-2023%4F X HAWN FE TR M A S

B MWD B &R (o)
2 R4l I &% v RITHRY 3 Bh 2 4bBh 2500
el i £ v RT3 G Bh 2 4bBh 2500
22 &I Y & TRV 3CE Bh2E b 2000
ik 5 R 55 v I HRD 250 Bh 4 4bBh 2000
EM= i £ v RITHRY 3 E Bh 2 4bBh 1500
FEoE Y &2 TRV 3CE Bh 2= b 2500
i Y & TRV 3CE Bh2= b 2500
ik B B Y &% v RITHRY 3CE Bh 2 4hBh 2500
K& Y = T RV 30E Bh 2 4h B 2500
W 1Al Y & TRV 3CE Bh 2= b 2500
MiE® i £ v RITHRY 3E Bh 2 4hBh 2500
¥R AL Y i TRV 30E B2 b B 2000
JHALSE Y & TRV 3CE Bh2E b 2000
A KR R 55 v I HRD 250 Bh 4 4bBh 2000
BT i £ v R HRY 30 E Bh 2 4hBh 2500
FBFELE R £ v I HRD 2505 Bh 2 4bBh 2500
R Y & TRV 3CE Bh2= b 2000
¥ &N Y e T ROV 30E B2 kb B 2000
ZoRAl Y = T RV 30E Bh2E b B 2500
5k E B R £ v RITHRD 250 Bh 4 4bBh 2000
S AH 4 Y e T RV 30E B2 b B 2500
A Y = TRV 30E B2 b B 2000
ZRAEY Y & TRV 3CE Bh2E b 2000
BT R 55 v I HRD 250 Bh 4 4bBh 2000
LN i £ v RITHRY 3 E Bh 2 4bBh 2500
PHA R £ v I HRD 2505 Bh 2 4bBh 2500
N Y & TRV 3CE Bh2= b 2500
Xl =4 Y e T RV 30E B2 b B 2000
(DB RAN I &2 v RITHRY 3E Bh 2 4bBh 2000
el R £ v RITHRD 250 Bh 2 4bBh 2000
J S R &% v RITHRY 3E Bh 2 4hBh 2500
¥t Y = TRV 30E B2 b B 2000
Zfd s R 5 v I HRD 250 B 4bBh 2500
2= R 55 v I HRD 250 Bh 4 4bBh 2000
U i &% v R HRY 3E Bh 2 4bBh 2500
ZEH R £ v I HRD 2505 Bh 2 4bBh 2000
2N R 5 v I HRD 250 Bh 2 4hBh 2000
R I &2 v RITHRY 3CE Bh 2 4hBh 2500
3ot Y = T RV 30E Bh 2 4h B 2500
i Y & TRV 3E Bh 2= h ) 2000
Y%, Y e T RV 30E B2 b B 2000
BT I &% v RT3 E Bh 2 4hBh 2500
faf 253 R 5 v I HRD 250 Bh 2 4bBh 1500
Mg T 22 T RIERNY 208 Bh 2240 B 2500
L% i £ v RITHRY 3 E Bh 2 4bBh 2500
A Y &2 TRV 3CE Bh 2= b 2500
R Y & TRV 3CE Bh 2= 4h 2000
AR g Y e T RV 30E B2 b B 2000
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FETF Y e T RV 30E B2 b B 2000
B2 i £ v RT3 G Bh 2 4bBh 2500
AN R 5 v I HRD 250 Bh 2 4hBh 2500
YEE R 55 v I HRD 250 Bh 4 4bBh 2500
T i £ v RITHRY 3 E Bh 2 4bBh 2500
EPIS Y &2 TRV 3CE Bh 2= b 2000
44 T 3k Y & TRV 3CE Bh2= b 2000
AN Y = T ROV 30E B2 b B 2500
il i &2 v RITHRY 30E Bh 2 4bBh 2500
XZE = Y & TRV 3CE Bh 2= b 2500
I Y e T RV 30E B2 b B 2000
Pk Y i TRV 30E B2 b B 2000
FR 4R Y & TRV 3CE Bh2E b 2000
B3 R 55 v I HRD 250 Bh 4 4bBh 1500
R & i £ v R HRY 30 E Bh 2 4hBh 2500
TR Y 2 TRV 3CE Bh 2= 4b 2000
HH Y & TRV 3CE Bh2= b 2000
2t I &2 v RITHRY 3CE Bh 2 4hBh 2500
Ak & I £ v RITHRY 30E Bh 2 4bBh 1500
ZRIL R £ v RITHRD 250 Bh 4 4bBh 2000
Y R &2 v RITHRY 3 E Bh 2 4bBh 1500
b Y = TRV 30E B2 b B 2000
Xl 2K Y & TRV 3CE Bh2E b 2500
JA 5 R 25 T RN 2 Bh22 % Bh 2000
B, i £ v RITHRY 3 E Bh 2 4bBh 2500
JH TR Y &2 TRV 3CE Bh 2= b 2500
I3 H G Y & TRV 3CE Bh2= b 2500
Xk Y &% v RITHRY 3CE Bh 2 4hBh 2500
S U Y = T RV 30E Bh2E b B 2500
TRk R £ v RITHRD 250 Bh 2 4bBh 2000
CREE R &% v RITHRY 3E Bh 2 4hBh 2500
L4k K Y = TRV 30E B2 b B 2000
EEZS Y & TRV 3CE Bh2E b 2000
iz R 55 v I HRD 250 Bh 4 4bBh 2000
MM i &% v R HRY 3E Bh 2 4bBh 2500
X2 R £ v I HRD 2505 Bh 2 4bBh 2500
Faft1e Y & TRV 3CE Bh2= b 2500
Xz I &2 v RITHRY 3CE Bh 2 4hBh 1500
X225 Y = T RV 30E Bh 2 4h B 2000
JIB 3 Y & TRV 3E Bh 2= h ) 2500
(v Y e T RV 30E B2 b B 2000
EE I &% v RT3 E Bh 2 4hBh 2500
T Y & TRV 3CE Bh2E b 2000
7K BE R R 55 v I HRD 250 Bh 4 4b Bh 2500
M Y = T RV 30E Bh 2 b B 2000
FRE R £ v I HRD 2505 Bh 2 4bBh 2000
B = Y & TRV 3CE Bh 2= 4h 2000
i Y e T RV 30E B2 b B 2500
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iy N Y e T RV 30E B2 b B 2500
2= R i £ v RT3 G Bh 2 4bBh 2000
% T i, Y & TRV 3CE Bh2E b 2500
P2 R 25 T+ RN 2 Bh22 % Bh 2000
I i £ v RITHRY 3 E Bh 2 4bBh 2500
PR Y &2 TRV 3CE Bh 2= b 2500
XIJRLL Y & TRV 3CE Bh2= b 2500
A Y &% v RITHRY 3CE Bh 2 4hBh 1500
AR Y = T RV 30E Bh 2 4h B 2000
2 Y & TRV 3CE Bh 2= b 1500
AL Y e T RV 30E B2 b B 2500
7K OO I 7% v RITHRY 3E Bh 2 4hBh 1500
JI 75 Y & TRV 3CE Bh2E b 2000
A R 25 T+ RINY 2 Bh22 % Bh 2000
B e 1% Y e T RV 30E Bh 2 b B 2000
e Y 2 TRV 3CE Bh 2= 4b 1500
P S HE Y & TRV 3CE Bh2= b 2500
ZIER I &2 v RITHRY 3CE Bh 2 4hBh 2500
7175 Y = T RV 30E Bh2E b B 2500
W i 3 Y & TRV 3 E Bh2E b 2000
PRl Y e T RV 30E B2 b B 2000
WZEN Y = TRV 30E B2 b B 2000
T =i Y & TRV 3CE Bh2E b 2500
JI o0 R 55 v I HRD 250 Bh 4 4bBh 1500
PiE R i £ v RITHRY 3 E Bh 2 4bBh 2000
B Y &2 TRV 3CE Bh 2= b 2000
Ve BH 75 Y & TRV 3CE Bh2= b 2500
SR Y &% v RITHRY 3CE Bh 2 4hBh 2500
Vi i 58 Y = T RV 30E Bh2E b B 2000
AR Y & TRV 3CE Bh 2= b 2500
ZERK Y e T RV 30E B2 b B 2000
a4 I 7% v RITHRY 3E Bh 2 4hBh 2500
b Y & TRV 3CE Bh2E b 2500
[ ki R 55 v I HRD 250 Bh 4 4bBh 2500
2T i &% v R HRY 3E Bh 2 4bBh 2500
25U Y 2 TRV 3CE Bh 2= 4b 2000
Akt R 5 v I HRD 250 Bh 2 4hBh 1500
1N Y e T ROV 30E B2 kb B 2500
g . [ Y = T RV 30E Bh 2 4h B 2000
AR AR R £ v RITHRD 250 Bh 4 4bBh 2500
iR R &2 v RITHRY 3 Bh 2 4hBh 2500
1 4 I &% v RT3 E Bh 2 4hBh 2500
Z= TR Y & TRV 3CE Bh2E b 2500
i R 55 v I HRD 250 Bh 4 4b Bh 2000
HESE Y = T RV 30E Bh 2 b B 2000
i Y &2 TRV 3CE Bh 2= b 2500
AT Y & TRV 3CE Bh 2= 4h 2000
sk BT Y &% v RITHRY 3CE Bh 2 4hBh 2500
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e Sy I &% v RITHRY 3 Bh 2 4bBh 2500
TR i £ v RT3 G Bh 2 4bBh 2500
ZEIEH Y & TRV 3CE Bh2E b 2500
2 R 55 v I HRD 250 Bh 4 4bBh 2000
Er Y = T ROV 30E Bh 2 kb B 2000
gLt R £ v I HRD 2505 Bh 2 4bBh 2000
AERE Y & TRV 3CE Bh2= b 2000
1] K 5k Y &% v RITHRY 3CE Bh 2 4hBh 2500
K BT g Y = T RV 30E Bh 2 4h B 2000
XEAE Y & TRV 3CE Bh 2= b 2000
ek HE Y e T RV 30E B2 b B 2500
2 I 7% v RITHRY 3E Bh 2 4hBh 2500
XA Y & TRV 3CE Bh2E b 2500
5 R 55 v I HRD 250 Bh 4 4bBh 2000
B fil i £ v R HRY 30 E Bh 2 4hBh 2500
KA Y 2 TRV 3CE Bh 2= 4b 2000
4 F R 5 v I HRD 250 Bh 2 4hBh 2000
St Y e T ROV 30E B2 kb B 2000
2k I £ v RITHRY 30E Bh 2 4bBh 2000
Aoy Y & TRV 3 E Bh2E b 2500
AP Y e T RV 30E B2 b B 2000
X1 H ¥ i £ v RITHRY 3 E Bh 2 4hBh 1500
R=fk R 5 v I HRD 250 Bh 2 4hBh 2000
AT R 55 v I HRD 250 Bh 4 4bBh 2000
ZE Y = T ROV 30E Bh 2 kb B 2000
4 R £ v I HRD 2505 Bh 2 4bBh 2500
B v 4E R 5 v I HRD 250 Bh 2 4hBh 2500
A Y e T RV 30E B2 b B 2000
BN Y = T RV 30E Bh2E b B 2500
FikE R £ v RITHRD 250 Bh 2 4bBh 2000
RXIEE Y e T RV 30E B2 b B 2000
MiEE Y = TRV 30E B2 b B 2000
RIEXL Y & TRV 3CE Bh2E b 2500
FHERL R 55 v I HRD 250 Bh 4 4bBh 2000
MiEE i &% v R HRY 3E Bh 2 4bBh 2500
¥ € St Y 2 TRV 3CE Bh 2= 4b 2500
EilgiE Y & TRV 3CE Bh2= b 2500
FEEE I &2 v RITHRY 3CE Bh 2 4hBh 1500
i Y = T RV 30E Bh 2 4h B 2500
PkmRLZE Y & TRV 3E Bh 2= h ) 2500
Xl R &2 v RITHRY 3 Bh 2 4hBh 2500
X I &% v RT3 E Bh 2 4hBh 2000
RN Y & TRV 3CE Bh2E b 2500
JHIEFH R 55 v I HRD 250 Bh 4 4b Bh 2500
F 4 i £ v RITHRY 3 E Bh 2 4bBh 2500
T Y &2 TRV 3CE Bh 2= b 2000
Mz Y & TRV 3CE Bh 2= 4h 2500
B Y e T RV 30E B2 b B 2000
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bR waS Y e T RV 30E B2 b B 2000
X IET Y = TRV 30E B2 b B 2000
PR &S Y & TRV 3CE Bh2E b 2000
ZEaE ik R 55 v I HRD 250 Bh 4 4bBh 2000
BEE i £ v RITHRY 3 E Bh 2 4bBh 2500
R Y &2 TRV 3CE Bh 2= b 2000
XfEFS Y & TRV 3CE Bh2= b 1500
BEX Y &% v RITHRY 3CE Bh 2 4hBh 1500
XIJE £k Y = T RV 30E Bh 2 4h B 2500
5 fik R £ v I HRD 25 Bh 4 4bBh 2500
T i £ v RITHRY 3E Bh 2 4hBh 2500
A I 7% v RITHRY 3E Bh 2 4hBh 2500
JE KA Y & TRV 3CE Bh2E b 2500
HouE R 55 v I HRD 250 Bh 4 4bBh 2000
B3P i £ v R HRY 30 E Bh 2 4hBh 2500
AN Y 2 TRV 3CE Bh 2= 4b 2000
¥ 8 Y & TRV 3CE Bh2= b 2500
BB Y e T ROV 30E B2 kb B 2500
A Y = T RV 30E Bh2E b B 2500
| v R £ v RITHRD 250 Bh 4 4bBh 2500
L Y e T RV 30E B2 b B 2500
+CEk i £ v RITHRY 3 E Bh 2 4hBh 2500
FIBEN R 5 v I HRD 250 Bh 2 4hBh 2500
JH R R 55 v I HRD 250 Bh 4 4bBh 2500
RN i £ v RITHRY 3 E Bh 2 4bBh 2500
X2z 1h R £ v I HRD 2505 Bh 2 4bBh 2000
5 g Y & TRV 3CE Bh2= b 2000
Bbkos Y e T RV 30E B2 b B 2000
Bk E Y = T RV 30E Bh2E b B 2500
TR Y & TRV 3CE Bh 2= b 2500
L2 Y e T RV 30E B2 b B 2000
XV z I 7% v RITHRY 3E Bh 2 4hBh 2500
MRS Y & TRV 3CE Bh2E b 2500
Bz R 55 v I HRD 250 Bh 4 4bBh 2500
Tk 1 i &% v R HRY 3E Bh 2 4bBh 2500
BRI Y 2 TRV 3CE Bh 2= 4b 2500
g R 5 v I HRD 250 Bh 2 4hBh 2500
T M Y e T ROV 30E B2 kb B 2500
k% Y = T RV 30E Bh 2 4h B 2000
ke Y & TRV 3E Bh 2= h ) 2000
P R R &2 v RITHRY 3 Bh 2 4hBh 2500
I I &% v RT3 E Bh 2 4hBh 2500
[ % Y & TRV 3CE Bh2E b 2000
ZEAEnE R 55 v I HRD 250 Bh 4 4b Bh 2000
JEE 4 i £ v RITHRY 3 E Bh 2 4bBh 2500
JEE S R £ v I HRD 2505 Bh 2 4bBh 2500
THHE Y & TRV 3CE Bh 2= 4h 2500
¥ K 5k Y &% v RITHRY 3CE Bh 2 4hBh 1500
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Y% 5 I &% v RITHRY 3 Bh 2 4bBh 2500
\Bin Y = TRV 30E B2 b B 2000
TR Y & TRV 3CE Bh2E b 2500
Bt R 55 v I HRD 250 Bh 4 4bBh 2000
LRSS Y = T ROV 30E Bh 2 kb B 2000
XIE B Y &2 TRV 3CE Bh 2= b 2500
XIE Y & TRV 3CE Bh2= b 2500
¥t % Y = T ROV 30E B2 b B 2000
XIFH A Y = T RV 30E Bh 2 4h B 2000
X Y & TRV 3CE Bh 2= b 2000
Mt R Y e T RV 30E B2 b B 2000
&0 I 7% v RITHRY 3E Bh 2 4hBh 2000
ZFE g Y & TRV 3CE Bh2E b 2000
XA R 55 v I HRD 250 Bh 4 4bBh 2000
XI5 [ Y e T RV 30E Bh 2 b B 2000
FERL Y 2 TRV 3CE Bh 2= 4b 2500
Pl Y & TRV 3CE Bh2= b 2500
HRAE Y e T ROV 30E B2 kb B 2000
FEIEHE Y = T RV 30E Bh2E b B 2500
K AR Y & TRV 3 E Bh2E b 2500
7 [H V5 Y e T RV 30E B2 b B 2000
AL i £ v RITHRY 3 E Bh 2 4hBh 2500
Z= B ik Y & TRV 3CE Bh2E b 2500
B R 55 v I HRD 250 Bh 4 4bBh 2000
= IE i £ v RITHRY 3 E Bh 2 4bBh 2500
EE: Y &2 TRV 3CE Bh 2= b 2500
AT 88 Y & TRV 3CE Bh2= b 2500
= RE Y e T RV 30E B2 b B 2000
2 Y = T RV 30E Bh2E b B 2000
RAFH Y & TRV 3CE Bh 2= b 2000
[k ey R &% v RITHRY 3E Bh 2 4hBh 2500
%A, Y = TRV 30E B2 b B 2000
2= R 5 v I HRD 250 B 4bBh 1500
38N R 25 T RIBNY 2 Bh22 % Bh 1500
AR Y = T RV 30E Bh 2 b B 2000
L Y 2 TRV 3CE Bh 2= 4b 2500
ZE R 5 v I HRD 250 Bh 2 4hBh 2500
5k 1S I &2 v RITHRY 3CE Bh 2 4hBh 2500
IR Y = T RV 30E Bh 2 4h B 2500
TR Y & TRV 3E Bh 2= h ) 2500
BT A Y e T RV 30E B2 b B 2500
BRI 2= Y = TRV 30E B2 b B 2000
FIE L Y & TRV 3CE Bh2E b 2000
A R 55 v I HRD 250 Bh 4 4b Bh 2500
BUORAE Y = T RV 30E Bh 2 b B 2000
75 HF Y &2 TRV 3CE Bh 2= b 2500
I R 4k Y & TRV 3CE Bh 2= 4h 2500
B S Y e T RV 30E B2 b B 2000
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2L My Y e T RV 30E B2 b B 2000
TR Y = TRV 30E B2 b B 2000
ik &F Y & TRV 3CE Bh2E b 2000
2= B R 25 T+ RN 2 Bh22 % Bh 2500
ZE RN i £ v RITHRY 3 E Bh 2 4bBh 2500
P % R £ v I HRD 2505 Bh 2 4bBh 2500
PHEL Y & TRV 3CE Bh2= b 2500
P s Y = T ROV 30E B2 b B 2500
EiEE Y = T RV 30E Bh 2 4h B 2500
BN R £ v I HRD 25 Bh 4 4bBh 2000
Rt i £ v RITHRY 3E Bh 2 4hBh 2500
TkfHAE I 7% v RITHRY 3E Bh 2 4hBh 2000
ZHE Y & TRV 3CE Bh2E b 2500
T R 55 v I HRD 250 Bh 4 4bBh 2500
SER i £ v R HRY 30 E Bh 2 4hBh 2500
T Y 2 TRV 3CE Bh 2= 4b 2500
kit Y & TRV 3CE Bh2= b 2000
e i Y e T ROV 30E B2 kb B 2000
YRk Y = T RV 30E Bh2E b B 2500
2= Y & TRV 3 E Bh2E b 2500
T e Y e T RV 30E B2 b B 2500
g% i £ v RITHRY 3 E Bh 2 4hBh 2500
FiL R 5 v I HRD 250 Bh 2 4hBh 2500
B R 55 v I HRD 250 Bh 4 4bBh 2000
=5 i £ v RITHRY 3 E Bh 2 4bBh 2500
ZIKE Y &2 TRV 3CE Bh 2= b 1500
BEER Y & TRV 3CE Bh2= b 2500
RXEFIE Y &% v RITHRY 3CE Bh 2 4hBh 2500
B2 Y = T RV 30E Bh2E b B 2000
X IE Y & TRV 3CE Bh 2= b 2500
et Y e T RV 30E B2 b B 2500
2 h Y = TRV 30E B2 b B 2000
¥ K, Y & TRV 3CE Bh2E b 2500
kg R 55 v I HRD 250 Bh 4 4bBh 2500
KEXE i &% v R HRY 3E Bh 2 4bBh 2500
W 7K 11 Y 2 TRV 3CE Bh 2= 4b 2000
GSYAE: Y & TRV 3CE Bh2= b 2000
S5 Y e T ROV 30E B2 kb B 2000
JakZikic Y = T RV 30E Bh 2 4h B 2000
B Y & TRV 3E Bh 2= h ) 2500
JE 5 Vs R &2 v RITHRY 3 Bh 2 4hBh 2500
PH = I &% v RT3 E Bh 2 4hBh 2500
Mk ¥ Y & TRV 3CE Bh2E b 2500
| biran R 55 v I HRD 250 Bh 4 4b Bh 2500
LSS Y = T RV 30E Bh 2 b B 2000
R E R £ v I HRD 2505 Bh 2 4bBh 2500
MRV Y & TRV 3CE Bh 2= 4h 2000
A Y &% v RITHRY 3CE Bh 2 4hBh 2000
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= FREX Y e T RV 30E B2 b B 2500
AR Y = TRV 30E B2 b B 2000
eV Y & TRV 3CE Bh2E b 2000
EHE R 55 v I HRD 250 Bh 4 4bBh 1500
ik IgE i £ v RITHRY 3 E Bh 2 4bBh 1500
L Y &2 TRV 3CE Bh 2= b 2500
s Y & TRV 3CE Bh2= b 2500
FLBE Y = T ROV 30E B2 b B 2500
gk B o Y = T RV 30E Bh 2 4h B 2500
LI Y & TRV 3CE Bh 2= b 2500
FEHEA i £ v RITHRY 3E Bh 2 4hBh 1500
A I 7% v RITHRY 3E Bh 2 4hBh 2500
2 R 5 v I HRD 250 Bh 2 4hBh 2500
|74 R 55 v I HRD 250 Bh 4 4bBh 2500
ARl i £ v R HRY 30 E Bh 2 4hBh 2500
FL) P Y 2 TRV 3CE Bh 2= 4b 2500
XA Y & TRV 3CE Bh2= b 2000
0% I &2 v RITHRY 3CE Bh 2 4hBh 2500
FLHERA Y = T RV 30E Bh2E b B 2000
L Y & TRV 3 E Bh2E b 2000
JE N Y e T RV 30E B2 b B 2000
Y Y = TRV 30E B2 b B 2000
RESuiE Y & TRV 3CE Bh2E b 2500
Bl A= R 55 v I HRD 250 Bh 4 4bBh 2500
JE T Y = T ROV 30E Bh 2 kb B 2000
F it Y &2 TRV 3CE Bh 2= b 2000
N2 Y & TRV 3CE Bh2= b 2500
& Y &% v RITHRY 3CE Bh 2 4hBh 2500
PEE Y = T RV 30E Bh2E b B 2000
59 Y & TRV 3CE Bh 2= b 2000
A R &% v RITHRY 3E Bh 2 4hBh 1500
LTS I 7% v RITHRY 3E Bh 2 4hBh 2500
g Y & TRV 3CE Bh2E b 2000
K [ R 55 v I HRD 250 Bh 4 4bBh 2500
B ts i &% v R HRY 3E Bh 2 4bBh 2500
€A R £ v I HRD 2505 Bh 2 4bBh 2500
b = & Y & TRV 3CE Bh2= b 2500
TR Y e T ROV 30E B2 kb B 2000
TR i £ v RITHRY 3 Bh 2 4bBh 2500
FERE Y & TRV 3E Bh 2= h ) 2500
X1 M 3t Y e T RV 30E B2 b B 2500
e I &% v RT3 E Bh 2 4hBh 2500
bSO R 5 v I HRD 250 Bh 2 4bBh 2000
AL R 55 v I HRD 250 Bh 4 4b Bh 2000
XL ER Y = T RV 30E Bh 2 b B 2000
R R £ v I HRD 2505 Bh 2 4bBh 2500
BT Y & TRV 3CE Bh 2= 4h 2000
Y i Y e T RV 30E B2 b B 2000




2022-2023%4F X HAWN FE TR M A S

B MWD B &R (o)
iiitA Y e T RV 30E B2 b B 2000
FIE A i £ v RT3 G Bh 2 4bBh 2500
& A Y & TRV 3CE Bh2E b 2500
VeLIE:] R 55 v I HRD 250 Bh 4 4bBh 2500
FHRKE i £ v RITHRY 3 E Bh 2 4bBh 2000
Tk NI Y &2 TRV 3CE Bh 2= b 2000
KT Y & TRV 3CE Bh2= b 2000
2R Y = T ROV 30E B2 b B 2000
KR = Y = T RV 30E Bh 2 4h B 2500
2R3 Y & TRV 3CE Bh 2= b 2500
218X, i £ v RITHRY 3E Bh 2 4hBh 2500
i 52 4 I 7% v RITHRY 3E Bh 2 4hBh 2500
feSN Y & TRV 3CE Bh2E b 2500
AN R 55 v I HRD 250 Bh 4 4bBh 2500
ik B H i £ v R HRY 30 E Bh 2 4hBh 2500
N Y 2 TRV 3CE Bh 2= 4b 2000
X AT Y & TRV 3CE Bh2= b 2000
FE L Y e T ROV 30E B2 kb B 2000
EIVEAN I £ v RITHRY 30E Bh 2 4bBh 2000
LAk Y & TRV 3 E Bh2E b 2500
MRE R &2 v RITHRY 3 E Bh 2 4bBh 1500
ek i i £ v RITHRY 3 E Bh 2 4hBh 2500
EEEE Y & TRV 3CE Bh2E b 2500
FHit By R 55 v I HRD 250 Bh 4 4bBh 2000
P ot i £ v RITHRY 3 E Bh 2 4bBh 2500
BEE A Y &2 TRV 3CE Bh 2= b 2000
JE 7K R Y & TRV 3CE Bh2= b 2000
FIK 4 Y &% v RITHRY 3CE Bh 2 4hBh 2000
gk Y = T RV 30E Bh2E b B 2000
MR Y & TRV 3CE Bh 2= b 2000
2= B R &% v RITHRY 3E Bh 2 4hBh 2500
iRl I 7% v RITHRY 3E Bh 2 4hBh 2500
J e B R 5 v I HRD 250 B 4bBh 2500
B R 55 v I HRD 250 Bh 4 4bBh 2000
K Y = T RV 30E Bh 2 b B 2000
XBA) 4 Y 2 TRV 3CE Bh 2= 4b 2500
B 5 A Y & TRV 3CE Bh2= b 2000
Y12 I &2 v RITHRY 3CE Bh 2 4hBh 2500
LN Y = T RV 30E Bh 2 4h B 2000
XA 55 Y & TRV 3E Bh 2= h ) 2000
THK R &2 v RITHRY 3 Bh 2 4hBh 2500
JA L I &% v RT3 E Bh 2 4hBh 2500
J izt R 5 v I HRD 250 Bh 2 4bBh 2500
SR R 55 v I HRD 250 Bh 4 4b Bh 2000
JE SR Y = T RV 30E Bh 2 b B 2000
[ R £ v I HRD 2505 Bh 2 4bBh 2000
(LR Y & TRV 3CE Bh 2= 4h 2500
J7)a Y &% v RITHRY 3CE Bh 2 4hBh 2500
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ik R I &% v RITHRY 3 Bh 2 4bBh 2500
7 i Y = TRV 30E B2 b B 2000
LR g Y & TRV 3CE Bh2E b 2000
FHE R 25 T+ RN 2 Bh22 % Bh 2500
T 245 Y = T ROV 30E Bh 2 kb B 2000
WZEIN R £ v I HRD 2505 Bh 2 4bBh 1500
B Y & TRV 3CE Bh2= b 2500
X2 Al Y = T ROV 30E B2 b B 2000
sk ¥ Y = T RV 30E Bh 2 4h B 2000
JEBiE] Y & TRV 3CE Bh 2= b 2500
HOGEA Y e T RV 30E B2 b B 2500
Bk I 7% v RITHRY 3E Bh 2 4hBh 2500
Mk R 5 v I HRD 250 Bh 2 4hBh 2500
G =PAR R 55 v I HRD 250 Bh 4 4bBh 2000
ZHR Y e T RV 30E Bh 2 b B 2000
KX Y 2 TRV 3CE Bh 2= 4b 2500
R R 5 v I HRD 250 Bh 2 4hBh 2500
& I &2 v RITHRY 3CE Bh 2 4hBh 2500
HinE Y = T RV 30E Bh2E b B 2500
T R £ v RITHRD 250 Bh 4 4bBh 2500
A R &2 v RITHRY 3 E Bh 2 4bBh 2500
TKER TS i £ v RITHRY 3 E Bh 2 4hBh 2500
Kb Y & TRV 3CE Bh2E b 2500
FFE R 55 v I HRD 250 Bh 4 4bBh 2000
LIRS Y = T ROV 30E Bh 2 kb B 2000
Jiti )L 5 Y &2 TRV 3CE Bh 2= b 2500
FETT Y & TRV 3CE Bh2= b 2000
i S2) Y e T RV 30E B2 b B 2000
& Y = T RV 30E Bh2E b B 2500
TR Y & TRV 3CE Bh 2= b 2000
T A Y e T RV 30E B2 b B 2000
¥ 1EHE Y = TRV 30E B2 b B 2000
[N Y & TRV 3CE Bh2E b 2500
T R 55 v I HRD 250 Bh 4 4bBh 2000
s i &% v R HRY 3E Bh 2 4bBh 2500
EHle R £ v I HRD 2505 Bh 2 4bBh 2000
e A Y & TRV 3CE Bh2= b 2000
24 1 R 2 v BN 0 B 2 b B 2000
I Y = T RV 30E Bh 2 4h B 2500
] R £ v RITHRD 250 Bh 4 4bBh 2000
FAUAL R &2 v RITHRY 3 Bh 2 4hBh 1500
Bom= Y = TRV 30E B2 b B 2000
JI R Y & TRV 3CE Bh2E b 2000
AN R 25 T RN 2 Bh22 % Bh 2500
Ji Y = T RV 30E Bh 2 b B 2000
I 75 Y &2 TRV 3CE Bh 2= b 2000
2R Y & TRV 3CE Bh 2= 4h 2000
AHHIE Y e T RV 30E B2 b B 2500
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VPGt I &% v RITHRY 3 Bh 2 4bBh 2500
A A i £ v RT3 G Bh 2 4bBh 2500
1T R 5 v I HRD 250 Bh 2 4hBh 2500
EEE R 55 v I HRD 250 Bh 4 4bBh 2500
ZiH i £ v RITHRY 3 E Bh 2 4bBh 2000
LKA Y &2 TRV 3CE Bh 2= b 2000
FEAFR Y & TRV 3CE Bh2= b 2000
AHNEE Y &% v RITHRY 3CE Bh 2 4hBh 1500
KIER Y = T RV 30E Bh 2 4h B 2000
Z It Y & TRV 3CE Bh 2= b 2000
¥ Y e T RV 30E B2 b B 2000
FHEE Y i TRV 30E B2 b B 2000
LY Y & TRV 3CE Bh2E b 1500
YA R 55 v I HRD 250 Bh 4 4bBh 2500
7K i £ v R HRY 30 E Bh 2 4hBh 2500
JoRi £1 3t Y 2 TRV 3CE Bh 2= 4b 2500
BN R 5 v I HRD 250 Bh 2 4hBh 2500
ZEEEE Y e T ROV 30E B2 kb B 2500
EJEAL Y = T RV 30E Bh2E b B 2000
ik R R £ v RITHRD 250 Bh 4 4bBh 2000
=R Y e T RV 30E B2 b B 2000
LD Y = TRV 30E B2 b B 2000
P AL R 5 v I HRD 250 Bh 2 4hBh 2000
o ff R 55 v I HRD 250 Bh 4 4bBh 2000
ZSHE R Y = T ROV 30E Bh 2 kb B 2000
E=L Y &2 TRV 3CE Bh 2= b 2000
AN R 5 v I HRD 250 Bh 2 4hBh 2000
ZE A Y e T RV 30E B2 b B 2000
ZEIEAl Y = T RV 30E Bh2E b B 2500
JE K % Y & TRV 3CE Bh 2= b 2500
L iBARz Y e T RV 30E B2 b B 2000
Enit Y = TRV 30E B2 b B 2000
HEKE Y & TRV 3CE Bh2E b 1500
Bhng R 22 T RIERNY 208 Bh 22 %0 B 2500
2 i &% v R HRY 3E Bh 2 4bBh 2500
BER Y 2 TRV 3CE Bh 2= 4b 2000
P k5 Y & TRV 3CE Bh2= b 2000
T I &2 v RITHRY 3CE Bh 2 4hBh 2500
AT B R Y = T RV 30E Bh 2 4h B 2500
FAe Y & TRV 3E Bh 2= h ) 2500
I Y e T RV 30E B2 b B 2000
KR I &% v RT3 E Bh 2 4hBh 2500
R, R 5 v I HRD 250 Bh 2 4bBh 2500
EER T 22 T RIERNY 208 Bh 2240 B 2500
BREA i £ v RITHRY 3 E Bh 2 4bBh 2500
B IERE R £ v I HRD 2505 Bh 2 4bBh 2000
Rt Y & TRV 3CE Bh 2= 4h 2500
W S Y e T RV 30E B2 b B 2000
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R Y e T RV 30E B2 b B 2000
A s2if i £ v RT3 G Bh 2 4bBh 2500
A RAl Y & TRV 3CE Bh2E b 2000
BLER R 55 v I HRD 250 Bh 4 4bBh 2500
IR Y = T ROV 30E Bh 2 kb B 2000
ZE 92 Y &2 TRV 3CE Bh 2= b 2000
ZEI AR Y & TRV 3CE Bh2= b 2000
¥ 5B Y = T ROV 30E B2 b B 2000
55 [ Y = T RV 30E Bh 2 4h B 2500
e Y & TRV 3CE Bh 2= b 2500
i Al i £ v RITHRY 3E Bh 2 4hBh 2500
G R Vs Y i TRV 30E B2 b B 2000
2R Y & TRV 3CE Bh2E b 2000
s R 55 v I HRD 250 Bh 4 4bBh 1500
Rl i £ v R HRY 30 E Bh 2 4hBh 2500
R Y 2 TRV 3CE Bh 2= 4b 2000
e Y & TRV 3CE Bh2= b 2000
fin] 1E 4 Y e T ROV 30E B2 kb B 2000
b1 i Y = T RV 30E Bh2E b B 2000
e Y & TRV 3 E Bh2E b 2500
% R &2 v RITHRY 3 E Bh 2 4bBh 2500
Eih55 i £ v RITHRY 3 E Bh 2 4hBh 2500
i R 5 v I HRD 250 Bh 2 4hBh 2000
[N R 55 v I HRD 250 Bh 4 4bBh 2000
RS i £ v RITHRY 3 E Bh 2 4bBh 2500
e Y &2 TRV 3CE Bh 2= b 2500
Jiti 4% Y & TRV 3CE Bh2= b 2500
k% Y e T RV 30E B2 b B 2000
Bt & Y = T RV 30E Bh2E b B 2000
IV JiK R £ v RITHRD 250 Bh 2 4bBh 2000
TR Y e T RV 30E B2 b B 2000
I I 7% v RITHRY 3E Bh 2 4hBh 2500
75 3N Y & TRV 3CE Bh2E b 2500




